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                              بسمه تعالی                                           پاسخنامه سوالات                                                     

 : آقای زیرکاری نام دبیر     شهید رزمجو مقدم هیات امنایی ستاندبیر                                      هشتمسال                          

        (                             نمره 5) آزمون                                                ( 95 – 96سال تحصیلی : )        

 

1 

−4 + 3 × 7 = −4 + 21 = 17 

2 − 2 × 32 ÷ 6 = 2 − 3 = −1 
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−7         6        − 3       −  +2 = + − − 
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−7 + 6 + 3 + 2 = 4 

A = {−3 , −2 , −1 , 0 , 1 , 2} 

 عضو کوچکترین بزرگترین عضو
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